Smayel| (R<¥ITJL) Y A—€Y FF7

BIFF247 28rF (4.5R - 6R)
o=y

O - THER
WA [BRHRE]

CET# (U—k) ERAkK]
mAH [RRSERM]

0.5 130 0.5 130
128 105 |12.5 126 105 |12.5
N J
K
>
2.5 r 2.5/ | /134]0.5 3
29.4 =
6 ©

N
23 W~

RSB
2.

15

89

BFF24 7 28F (4.5R-6R)

1o 12115

r=vy
O-TCHIER [ET# (o—b) HRAE]
M [EREE] M [RSEE]
11 130 11 130
12.15 105 12.5 12.9 105 12.5
14
= < = 5
« = @ )
=08 | U dsdlos= 29| Tab | dsdlos =
29,4 7425.6 o
31 3
£27. 6 é 7. by o T
= 1 #h -
] mo
L U=
~
B, ~
FHREBR S v NS
2. 89 |0.5—'—

TR (ZARMEYTED)

£RX
I | I
W
@I E
20 ARBAOTE=W—269
y o
A o =
022/
- 88
3
14l [ on= w-36) -2 | ow= i
3 \2 .
W
¥ ( )ASHEE/NY FJLLRACNA - DNA - ENATH A > DI5HE
@ E
1120 EPBOTE=N-2600 S 20 1
13] |7 eS 718
P EE of || 33 ‘c:ii
AN RN ol o
e . S
| A
14 DW= W—36) /2 | DW= W=36) -2 [|14
3 \2 3 .
W
¥( )ASHEE/NY FILLRACNA - DNA - ENATH A > DI5HE

CEMTH (7L -/ L= (FR/XM3%A) CZHR \BRORy SRS
- 20
~
= s T. 2
. 2N 1
= = 4
e Hl T == %l
~ S =
i 1
nj 4L
31.5 [37.7 [22. 809 N X
HEARTiER
R 28I FE (4.5R - 6R)
WREFR 118 132 164 168 182
W (DW) 1188 (576) [ 1323 (643.5)1643 (803.5) 1680 (822)|1823 (893.5
AHEO 919 1054 1374 1411 1554
AR | HOERR 20
(mm) H O =A% 2033 (1982)
PA# 2045 (1982)
HEEFR 23
=A% 2333 (2282)
H (OH) A 2345 (2282)




